
IQ Online Test

Sr Questions Answers Choice

1
Insert the missing number, standing up:
8 11 ? 12

A. 4
B. 16
C. 11
D. 26

2
Insert the missing number.
0 2 8 18 ?

A. 35
B. 32
C. 36
D. 38

3
Insert the missing letter.
B C E J ?

A. X
B. W
C. S
D. R

4
Generation = 95
Television = ?

A. 89
B. 81
C. 98
D. 89

5
Insert the missing number.
7 10 ? 94 463

A. 21
B. 26
C. 25
D. 29

6
Republican = 108
Democrat = ?

A. 81
B. 84
C. 89
D. 92

7 If Gibe - Fade = 81, then Dice - Cede = ?
A. 54
B. 56
C. 58
D. 59

8
Insert the missing number.
118 199 226 235 ?

A. 238
B. 241
C. 244
D. 248

9
Insert the missing number.
5 41 149 329 ?

A. 581
B. 584
C. 587
D. 589

10
Insert the missing number.
7 19 37 61 ?

A. 87
B. 91
C. 93
D. 97

11

Insert the missing numbers.
9 (45) 81
8 (36) 64
10 (?) ?

A. 55-100
B. 56-111
C. 57-112
D. 58-113

12
Insert the missing number.
857 969 745 1193 ?

A. 293
B. 291
C. 297
D. 299

13

Insert the missing number.
643 (111) 421
269 (    ) 491

A. 119
B. 116
C. 113
D. 111

14

Insert the missing number.
3 7 16
6 13 28
9 19 ?

A. 36
B. 39
C. 40
D. 42

15
Insert the missing number?
4 7 9 4 11 14 15 19 ?

A. 11
B. 19



15 4 7 9 4 11 14 15 19 ? B. 19
C. 21
D. 24

16

Insert the missing number.
447 (366) 264
262 (    ) 521

A. 513
B. 516
C. 517
D. 518

17
Insert the missing number.
1 3 2 ? 3 7

A. 9
B. 5
C. 3
D. 1

18
Insert the missing number.
1 5 13 29 ?

A. 61
B. 63
C. 66
D. 69

19
Insert the missing number.
172 84 40 18 ?

A. 7
B. 4
C. 2
D. 1

20

Insert the missing number.
17 (102) 12
14 (    ) 11

A. 74
B. 77
C. 79
D. 81


